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.{'l,
s R (1) Question Mol 15 compulsory ,':-.b
A {2} Atlcmpt amy four guestions from remaining Gt Nos. 2o 7, -{1’

(1) Draw neat sketches wherever required.
(4) Assume suitable dina if required

1. {a) Define roles of two new network entities in GPRS
b} Diseuss the role of LTE systems

() What is CIIMA? .
{d} Praw wireless sensof petwork Id}rerad architeciine.

2, {a) Dizeuss QoS anribules used in UMTS.
(b} Compare all versions of ILEERDL [ TWLAN,

3. (1) Discuss WAP architechure

{by Explain Blustooth protacel stack?

10 .
4, {a) Explain evolution ol 15-95 in details o |
Lo
(b)How pawer cantrol is used in UDMA and W CEjhﬂ’ |
T
i-Fi)? Di i jthm used in WLAN
5.(a) What is [EEE 802,118 (Wi-Fi)? D-s-:ussﬂ}ﬁs'l_’\nnmhal backe i algorithm u B
i 10
() Explain role of GPRS in GSM 'ub‘h
T
iLi gﬁ:? 1
&, (a) What iz UWE? Explain it 1r11? wils.
i ' 10
rhat is ZigBee leehnolgmy? Discnss brielly
(b) What is £18 ;@f"
i
nf? L
7. Write short noles n&rﬁv
{a} REID o
(h) Link budget d,[l'.ﬂ"_r'SLS
{c) HEDFA I:I’&.
1[,;-\' ! FRREEE
o
W
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gub - T &ve QP Code : 717903

(3 Hours) | Total Marks : 80

N.B.: (11 Question No. 1 is compulsory.
(7} Atternpt any three questions out of remaining,
(31 Figures lo the right indicate full marks.

1. Solve following :
(a) Explain the technigues to improve Qa$ in mullimedia. 5
(b} What is pseudo header? Why it 15 used in UDF, R
(¢) What is Remote Login? Explain working principle of NWT. .52

(d) What is socket address” Explain with example. »"E.E
i

2. {a) Which protoco] is responsible to repart RITOr MEssages’ Eiplain in bricf. 10

{b) What is role of H.323 protocol in VOIE. cf;‘“

:\‘H\ .
3, {a) Explain need of digitizing audio and viden in Imurn@éummunicahnn- 10
Explain video compression (M PEG) in detail. &
(b} Explain the resource record format of DNS. L_F}":' 10
.

4. {a) What is 3 way handshakin g? Explain con q:E‘Et{nn :ﬁtabiishmeqt_nsin B TCPE. 10
{b) How the 1P adidress is allocated d}'llﬂ]lli&l::i;ﬂ % BExplain state transition diagram 10

of DHCE »;
%
5, {a) Explain the working principle qu[}P';l and JMAP4 for mail dcliverg,"ii . 10
(b) What arc the different Sp:ﬁi&%ﬁ;ﬁdt:ﬁsﬂ in classfiul addressing? Explainim 10
detail, ﬁ{}
BN
6. Write a short note on (any three) 10

(a) TFTP
{b) UDP multipléing/ demutiplexing
%

() RTP o
(d) ﬂddri ‘{HE['JE::H'DH
=
bfgi‘ --------------- =
)
o
W
b
O
&
W
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Q.P. Code : 852600
b~ 5€ v
(3 Hours) [Total Marks : 80|
N.B. 1) Question No.l is compulsory. N
- )
2] Attempt any three from remaining. &
1) Assume suitable dala if necessary. 0
' P
5
&
{, {a) Bricfly describe the following; J5
' i - . i . . . e . n -
(i) Why does & satellite in highly inclined elliptical arbit spend most ﬂﬁti;f
i1 orbital period over higher latitwle reglons? HOE
(if) Why is il preferable for a remete scosing satellite to be éﬁ)ﬂun
synchronized orhits? ~0
(b) Explain: @Q 03
(1) Lobe switching (2) mono pulse tracking (3) st tracking (4)
intelligent tracking, ?‘53‘

(¢) Why the control system in gatellite waits for an exkoute command after 05

receiving the command to be executed? ﬂﬂpr’)

(d) Differentiate belween windaw and frame n_\rh-gﬁﬂizatinn. [
At

'
S
tabilized satellit wﬁ‘m relatively large number of solar

1y Why a spin s
cells as compared Lo three EE‘E stabilized satellite for the same power
ot

requirement? e

2) Why arc storage hat{oeﬁfs used along with solar arays?

(b) What is the antenna efife lemperatnre? What are the major factors that 10
decides the antem@{@ﬁwc temperature? What i the antemma gain o noise

temperature (G{T) ratio? What is the significance of Farth stations
- "‘Th\l ' ] |

antenna pain i no1se temperafure rafio?
ey

S}
£3
3. (a) Explaigihermal sub-gysicm. What are the in

2. (a) Explain:

ethads of thermal controlm 14
satefHe?

(b ‘.g.}.ﬁFaL are: the differcnt Lypes of lasers used for satellile co

Explain photo detector noise madel.

'r:...-

e
DCJ

rmunication?

k:fp‘ (TURN OYER)
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J Q.p, Coge, %,

with the help of & block diagram describe the Workino

oveive carth station used for telephone traffic, s of i

(b} Fxpliin 1n detall the operation of the Spade —
assignment. Explain what is meant by thin royge Servie? g il

pe of satellite access 15 most suitable for this ——— tlg

1

gy
E%5L th,

5. [a) An um“[hlsmlmn employs a power amplifier Providing gy " L
of 100W and an antenna of 3m diameter oy both {rap t_F'UlL PE,;EH 1
recaption, IThE transmission frequency g 6.23 I{jH;gt Hﬂnlslsjgg'? i1 ]
frequency 15 4.3 GHz. System nojge teruperature g 14 Tldr:m&lﬁfh1g

and GiT ratio, ],:%“i?‘\ﬁ”d Elkp )
- (h) What is limit of visibility of satellite? How it is ca] ;iﬂt.;
{c) Explain what is meant by earth celipse of ap ¢ atith. '.jrb.jﬁug ;
; satellie?

Why it is preferable to operite with o etel: ;

1 satellite pedti ,

east, of earth station longityde? | -EC‘ onedwest rather gy
a

o

-

b {a) Howihe reliability of the earthy stating‘fﬁximpmvec]‘?
() Draw and explain the satellite neiﬁﬁ architeciurg :
(¢} Explain Unique word detection | :

e 4
&

.ﬂﬁ‘“
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£
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Q.P.Code: 629500

L (3 .
W P 3 Hours .
H'“'i:::_L'_--'f ) | Total Marks : 100
- - - rh-
N.H. o (1) Question No.l is compulsary, ”Q‘:.I:;
(2} Arempr anv four questi ] ining & i ?
2 p A1) questions [Tom  remaining six questions. -%“:Q
(31 Assume suitable data wherever MECCERATY, Justify the 5O N
(4] Trgures to the right indicate ful! marks ) S A
. -..,:51-'
s
"::1'}’_
; et 2 i
I Answer the following in brief: L
N
= N

(@) What are the advantages of optical fiber communicationy ,
' = r HE .
(b  Distinguish between spontanecus and stimulated YIS aiE
5.

() Coherent optical communication is preferreg ovemsn
optical communication why? aron-ceherent

(d)  Derive expression for the responsivity of an intgisic photoders
n terms of guantum efficiency and Wﬂvelen%@_ eloctor
o

2. (a) Explain the significance of "V' number. Deri Qf'
; . £ . Derive™he ian fi
of guided modes in graded index fiber. ﬁﬁiﬂb ey L
{b) Explain intramodal apd mnternodal dis ;
iy pem@ion. How does dis I
the transmission bandwidth of optical {iker, SR o )
i
3. (a) Amultimode i >
-l A mithmoce step index fiber hasa-dore diameter 80pm and a relative index
difference of 1,5%, uf'D.ESum.thha core refractive index is 1.48 Determine:
(1} The normalised f']'eqqgill}c}f of fiber.
{2)  The number of guided modes in the fiber.
(b) Differentiate between EASER and LED. §
(c) Name different fiber fibrication process. Explain any onc fiber fabrication 10
process in derail ){ﬁ\?h neat diagram,
ﬂ“\-\.
e ;
4. (a) Explain andﬁmparﬁ PIN diode with Avalanche photo diede (AFD) with 10
the help ,D"I'E%uimhlﬂ electric field diagrams.

(b) I.'lescrlj,l(@ﬂ{he: different types of pre amplifies used in optical receives. 10
i
o
"y v
b
T
D{:}
-."__,..
po
3 TURN OVER
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Q.P. Codc :
: 2
2 {a) I3 ]
bl T -|
list rf:-;Lt the various meihads of splicing individual [ibers logether. Also
() EHP[ﬂjrimflntE &nd demerits of each method.
Al Bspects of fin nower budget ard rise tne budget. 10
6. (3) 1 | %
l'ﬂ"..'i.'; Lanm L 5 i i ; I}I
: mur.;etnd.‘-_xmam bivek diagram af aptical receiver alongwith various noise "lﬁlﬂ
A5 Dra o Ellh elevant equations, 1;3;
r I:n E.I 1 b
: “r . Xpdiin oz |1E'El':l".'.ljl'.n':Lit'|l1 LED. I:‘Jl:_::b‘L 1)
. .l‘ltr.: SO notes gn Any four; {’;j
{-'a.j I'L'IL!JIE'pJI;}_‘i]'[g af ‘:'F:l[l: gt '.;-_-E}lb b
| (b) OTDR. . Al signals, _ Q‘“ﬂ
t{:':] Modal nojse. ﬁ
| b ;
fejl Eimjar i honlincar SCattering losses, s
Phcal fiber connectors. -
o
o
r.i"'r P -:H-“.- — be
A WY ' {9
2 “-~.._;-'.'.""': 1';‘\.::'.:-
)
1}\-']
!
'HID
q{}
)
o
o
-,
n'lt.:l
o
bml::'
o
ah’
O
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Iub - XC QP Code : 629293
{ 3 Hours) | Total Marys m
g: 1) Question Mo | is compuisory, _

Pt 2y Atlemplany four guestions fren question No 2 To 7, !
1) Asswne suitable Dala Wherever necessary and justily the same, g.;u ;
4y Draw neal sketches/diagrams wherever Mecessary, rw'ﬂ‘

AV
i A
|, Answerthe following NF
(@) Define () Trus anomaly and Mean anornaly R 5
(ii} Satellite velecity and Sutellite period. |,' 10
(b) (i} Compare FH- CDMA and DS-CDR A, {j':-:r"
(1) Explam Lavnching ot Geo stationary satellitey ‘:::-ﬂh ll
‘x.
p o (8) Whatarelook angles? Explain its significance in relation with sat sl i
: A earth station is located at a latitude of 12" south and 1“1'72'-[1111:: of 51;,
west, Calculale antenna look angles for a satellite at 7p° et
(b) Describe various perlurbations of salellite orbits, ,D:i"' 10
L
3. {a) Explainblock diagram of Transmit and r:-:eiv&ly@%f carth station, Explain 10
each block in detail. '-.;:x
{c) Which type of double reflectors iz used n ﬁ@m& communication Explain 10
in detail.

4
“:I"Il.
4, () Whatis Earth eclipse of Satellile? ?‘@ there any ways of avoiding eclipse 10
during lifetime of satellite. )

~ {b) Explain the following: 2 10
(i) 1 db Compressivn poingy
b (i1} AM Lo PM conversi
5. {2) Deseribe different 5@ lization Techniques. }g
(k) Explain TT & C system with the help of block diagram.
10

6. (a) WhatisE TE‘i:,!»f:qrime: the relation for C/N rakio for satellite [ink Discuss the

importagdgof G/T ratio. =
(b) ExplaigSPADE system and SCPCol FDMA.
o

1. Write Dt notes on any Four
gﬁi‘iinglu conversion Transponder
"ﬂf{h] Reliability and Baih tab curves
() Elcctrical Power sub system
C:CJD (d) Sidmlal_tla}r s
onsu
| b?‘g (e) Propulsi E
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Com T Exr CRRGY 2516 W 0ee - gy

Qub . 4 iy O, 1% Codle 2 629103

N fritira) [Totad Mearks ;100

pA. (1) Quastion No.1 g Compulsary

e
i

21 Saolve any four 1, -
(2] iy rarm FaMaining gy fGuaslinng,

{3 Assime suitable gatq wl
(4] Flgures to the righe Indi-gglr: ?ﬂ] Irﬁfulrl*lﬁrgd n s o

Answer tha follawin

(@) Prove that scatlenng matri |
ki X Is gy iml -
[b? Explain 1-¢B compressian puir?mmﬂrMI ik 4
l.r;j m?u:na:ﬁ;iﬂxchaaﬂﬂm““ o power amplifiers? ) ¥
arivg | res ' ; ;
] pression of overall nola figure in fhrow cascadad stagos of A0ipiers

]

[ A BJT has tha followin it
9 S-paramelars, s the trangstor uncoritionali stabia? Draw 10
5=l

‘Nput and outpu! stakility eirgle,
Su =165 £ 05 85208 .~ 35
Srp=0.035 » 407 5:—|=".:|.5.--;'-"115";h 1';:“
. Ir:l
(b) - Explain fwe methods of broadband amplifier dazign :‘*tﬂ
i

(k) Disouss various mixer fopologies, Cempare Pﬂﬂmfﬁ;nc& af them,
.

_ ]
A Gahe FET has the following S-parameter aﬁr}n-ﬂisn parameters at 1.0 GHz. (Z: =
SO0, 51 =D612-185" B13=0, 8 = 5% 100°, 8 = 0.5 2 20°
Foio = 308, Tont = 0.45 2 180°, Ry = 400885190 a Low noise amplifier for a noise
figure of 3.5 and powsr gain of 16@ :
£y

ja; Derve the transcucer power g@hajs:
=

oo h}qﬁ = |34 |2(1 = [ 7300 = 11317
Fug 1= GIuPll = 8li

T

ll_-—‘li
by Compare micre amplifiers with microwsaye oscillatars,
(t) Compare microwage

Al
™~

fa) Discuss the .E“;E of Microwave ostlllalor design using GaAs FET,
(b} Define andf explain noise comelation malrx for general noise two port networks,

1%%{35‘?"03.1@@.'193 fransformalion?

iy

\irite short notes on (any twoj:-
(2} v Power distribriad amplifisrs.

Singla ended diode mixer,

f-_,C[’C} Microwave resonatars.
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4 .[,jf,'f_ﬂﬁ; ComNIT  Cpcq ExTe 2 5|l
I b - PQP@’&Q-E iUEvau%k Q1 Codle 3 TOORN2 ;')

i (3H
il YL ——— (HIrs) [Marks : B
i2) Solve any three questiyy,

z (ram Tenpain
(1) Assume suitable daa i L

eqllined,

Azt out Quality of sere -
. f{a) Lis ¥ of service g 4
(by Expluin "Hidden Node! uud[Pm] Ifler:uq._;, in UMTS. 0 L
ic) How is power eonerg| ilnp]un‘:z:::'jri.l node’ prabrlem in wireless LANS. [L; IL:
Frti
(@) D and explain ith mooy 3 e 1n CO A7 0 e
cob tlngram, the components of Senser nodes. t'f:"

Calculat th : .
AL o ;“W CDiE:T :"nk ”-‘!l toad Tuctor and numbers of vice wsces per celky” 10
WELCE usinp the Tulllil‘.l.’ing dita, What 15 1he pnl.: capu,E'rlg"ur
0

the cell? T
| (1} Inforarmation Tute (Ri)= 122 kbps

(2y Chip rate {Rc) =354 Meps

{3) E&/INt = 4 dh

{4) Average intercferenee factors dy

i tl.-l 'J[hﬂl"& ” — ] Ty
(5) Orthogonality factor = 0,65 gells = 0,53

1
(6) Interference margin = 3gh, A
:‘\"'\.\."
I | - | 1\.{:.:3.
(b) What is Localization in wireless sensor netword® Expluin with examples 10

centralized and disiributed schemes in L-ng%Trzatiun slgorithms,
!-‘I.I'

- - - 1
3, (g} Give the detailed radio Access Netwprk overview. Explain in detail functions 10
of Mode B and EMNC also draw TIFEAN logical srchitecrure,
(b} Explain the Zighee technolomy iscuss different Network Topologies that 10

arc supported in Zighee, o
'.;':.h"h

(b] Explain Varigus HI@[DI}Ih cennection establishment states. Draw a complete 10
flow diagram. X

'?-_
Giive [ﬂciu{i'ﬁ‘}i requirements of TEER 802,15 3a Physical layer wrt. data 10
rates, er consumption, power management modes, scalability and

it
—
2

Y By
P 4. (2) Explain Link budget aalysis of requirements of wireless netwaorkes. 1
i
|
|

i]]iqg'f@muce, elc.

{b) Network management design issue is a critical issug in wireless sensor 10
{‘fﬁ‘ﬂwurk? (Give reasos,
v
6. @Hﬂ] Write short notes on: M
o o (&) Wimax

i (b) Rake Recejvers.

&P ****3*“***ﬂ**ﬂﬁ#ﬂ##*****”

k

Scanned by CamScanner



